Efficiency vs P,

+0.02
o
€0.018F
3 F
£0.016F
20.014F
q) -
0.012
0.01F
0.008
0.006
0.004F
0.002

.................................................

1.0

Ratio

e
TTTT [T T

o
- ©
=xel
i

10

‘?‘sz (Ge\%)3

—ehoC

11111

‘%ggég

||n{vcuu| 1660evt

%%igﬁ 1RO TLIERS 1000evt

~0.05
©.045F
80.04
2
9.035F
b5
0.03F
0.025F
0.02F -+ +
0.015F
0.0

........

0,005 febids

................................................

.....................

&

e = 0

Ratio

0.95]

b
TTTT[TTIT[TTTI[TTTT

09

Efficiency vs @

50.02
9.018F
> o
9.016F
o E
2.014F
[} [
0.012F
0.01F
0.008FF -+
0.006F:
0.004f
0.002E-

J_G 111 11 1 1 1
-% i T TTTHETTETHETHT T ]
X : : ]
i B L :
HIUxE LT )
+ ] i 4 :
-1 0 1 2 3




	Contents
	Page 1


